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INCOME 0.064**
PRICE -3.18%*

RAINFALL 6.05%**

APPEXP = 89.09 + 0.064*INCOME - 3.18*PRICE +
6.05*RAINFALL
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INCOME 504
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CIEEFEA A2t 24

48 AR
LRl 0

TR} =73.040 - 72.450

o

Fa

e=Y-Y =0.59




CISEIFEA A2t 24

\—
(587129 25\

¥ = ; 4 -
CheS|HEA(SEH  Income), CIS3IHEN
48 AIF| 4% 23 49 ZH
R Y ERERE T 73040 WMEREI 72450
=73.4-71.34 = 73.040 - 72.450
S Od =170

=0.59
TIRHER 242t OIS A2 07t HE +E5H E2 L

78102 Al G THOl SRIH4AE UE




| CIE 3|72 AR} 24

7|Z KZ0IM O Al 2
=

Domain Knowledge 7|8t El2{4,
HAIZHS Sof| M{ES = A A




517241 Al2qe} 24

& =

Qo|njy Zz0| TR

5t

"AIZ-0l|

o0

OF

k{0

B
il 100
LHr 80



' CIEEFEN A2t 24

71=7] A0l thgh =2

N\

N —

388

A\

a0 280

7HIME P




" LIS 31724 ALYt 24

LS2l 24 214} 0|4

Console | =
> Im.res<-Im(formula=birth~w.act+edu.spd+cru.div+rGDPgw,data=Birth.df)
> summary(Im.res)

call:
Im(formula = birth ~ W.act + edu.spd + cru.div + rGDPgw, data = Birth.df)
Residuals:

Min 1@ Median 3Q Max

-1.15217 -0.22191 0.07337 0.30661 0.82869

coefficients:
Estimate Std. Error t value Pr(>|t])

(Intercept) 10.210782 1.746329 5.847 1.1le-06| *** | . IT ol1O
w.act -0.206442 0.042851 -4.818 2.62e-05| === *-'-LM? I' M—E
edu. spd 0.227689 0.063946 3.561 0.00106| ** O 0|5 HA
cru.div -0.581267 0.199087 -2.920 0.00601] ** TT=l= =T

rGDPgw -0.006666 0.021069 -0.316 0.75354

Signif. codes: O ‘***' 0,001 ‘**’ 0.01 ‘*’ 0.05 ‘." 0.1 ‘' 1

Residual standard error: 0.456 on 36 dearees of freedom
Multiple R-squared: 0.7899.|Adjusted R-squared: 0.7666|— }_ggg}”#
F-statistic: 33.85 on 4 and , p-value: 9. e-
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